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aq      +   2I
-
                  2S2O3

2-
aq          +    I2 aq      =        S4O6

2-   0�"($�x(t) 1$��I@�  
F�@�	 U��@� D��&�(mole) x(0)=0  1$�Y�  

0  0  n(I2) C.VE   1�Q��(	*� 1$�Y�  
2 x(t)  x(t)  n(I2)-x(t)  C.VE-2x(t)   1�$�"(L$� 1$�Y�  

2 xE  xE  n(I2)-xE  C.VE-2xE    1�Q�eL$� 1$�Y�  
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 o'L@� 4#�x=f(t) :
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0.044  

VE(ml) 

n(I2)(x10
-3

mole)  

2.74  2.54  2.34  2.16  1.80  1.46  1.26  0.96  0.44  n(I2)(x10
-3

mole)������ �	  
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   �L��$t=t1/2   _p� ( ) f
/ 1/2

x
2.5mmole t 1010s

2
1 2x t     = = ⇒ =st�� �c �&� o'L@� R�S .  

�S�O(�$ 1�&AY� 1S�5$� u�5B:  

Vc 1�&AY� 1S�5$� U���S: 1 dx
v .

V dt
=  

V�S�O($� ?��@� 4AB R�S 45"� 6 v �S�O($� 1S�# X5..   
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-αt        ������� 
�
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�t=0 b��  Uc=0 
d ��!��B� 8 e������� A=-B  
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